
:60%WU 0? 10: 570%; 3A2 AR4.? :09
"(’# +- ") %’ *!"$ #.!/ &$(! + , +) $! ’(%

S+.)+ /!$ #&%& 

2=:5 6;0 ’$ 6=7 26@ :56K0 A7!4.?:09
3=F M Q $ ?A GP $ 6DOJ QJUF%

"""""""" ! ! !
.5 AB=#A;5J (, G<8A;’(A8@’%&)

!""" !+G##

?6;:5 10; ?60C  !" :60: >A
8KOJ IKRM. 35 5KDP GKFJ 2JUOI LJPDO 6D :=K

$ ,5A ,0: G<9B1;<= DHJ9G7H5.-24 F( ’)- A;5J (+ G<8A;’( A5@’%&)#7H5,(A; GJ7C
/A 387< ;=5B ><B5G5=4C.5 1*=# 7<HA; G(=GE8AGEBA;G<BA;68B I=97G<5J8(= A<8A3? 7H5,(A;
GJ7C/A 357< ;=5B ><B5G5=4C.5 1*= A<HF5H+

(/0-,) * +. 6( A<=9@+

6= VD THO 2JKRF VU TORPF 2JKRF VU GKRPF ?JDK JDO E+ :IDX EKTT G U FP

LJK E+ OJKHN E+ OJKHRO OJK N JKHU MUF

:IUXHO ?JK 2DO E"/ :B1 2JU TKFJ 63=? ?JHP OJKHN  ! %&"$%"%#$’
?JDOJ ?JUX 53A: 3 K J"/K

:I+ =UDOI :IUXHO 53 <JP 2? 63=? ?JHP OJKHRO  ! %&$$%$%#$’
?JDO 2+OI TX 7O A6< LKHRO 5KDRO G*F 3 K J"/K &’M&’M(&’-"53#


		2017-12-27T14:55:50+0700




